Regents Exam Questions F.IF.C.8: Graphing Quadratic Functions
Page 2
www.jmap.org




Name: __________________________________



1
In the function [image: image1.png]—D%+4




, the minimum value occurs when x is

	1)
	[image: image2.png]




	2)
	2

	3)
	[image: image3.png]




	4)
	4



2
If Lylah completes the square for [image: image4.png]Ax)=x = 12x+7



 in order to find the minimum, she must write [image: image5.png]


 in the general form [image: image6.png]—a)i+b




.  What is the value of a for [image: image7.png]


?

	1)
	6

	2)
	[image: image8.png]




	3)
	12

	4)
	[image: image9.png]-12







3
Which equation is equivalent to [image: image10.png]2+ 24x- 13




?

	1)
	[image: image11.png](x+12)* - 162






	2)
	[image: image12.png](x+12)* + 126






	3)
	[image: image13.png](x-12)* - 162






	4)
	[image: image14.png](x—12)* + 126








4
The function [image: image15.png]Ax) =3+ 12x+ 11



 can be written in vertex form as

	1)
	[image: image16.png]Ax) = (3x+6)° - 25





	2)
	[image: image17.png]Ax) = 3(x+6)° - 25





	3)
	[image: image18.png]Ax) = 3x+2)* -





	4)
	[image: image19.png]Ax) = 3x+ 2% +7







5
Which equation is equivalent to [image: image20.png]y— 34 =x(x-12)



?

	1)
	[image: image21.png]= 17ix+2)





	2)
	[image: image22.png]




	3)
	[image: image23.png](x-67+2






	4)
	[image: image24.png]—6)*-2








6
Which equation and ordered pair represent the correct vertex form and vertex for [image: image25.png]i) = - 12x+ 7



?

	1)
	[image: image26.png]—6)%+43, (6,43)






	2)
	[image: image27.png]—6)% +43, (-6,47)






	3)
	[image: image28.png]—6)% - 29, (6,-29)






	4)
	[image: image29.png]—6)% - 29, (-6,-29)








7
The graph of a quadratic function is shown below.

[image: image30.png]15

10

20 25

15




An equation that represents the function could be

	1)
	[image: image31.png]q(x):%(mls)kzs





	2)
	[image: image32.png]q(x):*%(fwlS)szS





	3)
	[image: image33.png]q(x):%(x*15)2+25





	4)
	[image: image34.png]q(x):*%(x*15)2+25







8
Determine and state the vertex of [image: image35.png]Ax)=x'-2x-38



 using the method of completing the square.

9
Use the method of completing the square to determine the vertex of [image: image36.png]Ax)=x* - 14x- 15



.  State the coordinates of the vertex.

10
a) Given the function [image: image37.png]Ax)=—x* +8x+ 9



, state whether the vertex represents a maximum or minimum point for the function.  Explain your answer.



b) Rewrite [image: image38.png]


 in vertex form by completing the square.


1
ANS:
2
REF:
011601ai

2
ANS:
1

[image: image39.png]12547

x* - 12x+36- 29
(x-6)°-29




REF:
081520ai

3
ANS:
1

 [image: image40.png]x4 24x+ 144 - 18- 144

(x+12)* - 162





REF:
081911ai

4
ANS:
3

[image: image41.png]37 +4x+4)- 12+ 11
3+ 2 -





REF:
081621ai

5
ANS:
4

[image: image42.png]y-3=x"-12x
y=x -1+ 34
y=o - 12x+36-2
y=(x-6)°-





REF:
011607ai

6
ANS:
3

[image: image43.png]j(x) = x* 125+ 36+ 7- 36
= (x-6)*-29




REF:
061616ai

7
ANS:
4

Vertex [image: image44.png](15,25)



, point [image: image45.png](10,12.5)



[image: image46.png]12.5=a(10-15)" + 25
125 25a





REF:
061716ai

8
ANS:


[image: image47.png]) = [x272x+1]



  [image: image48.png]



REF:
061932ai

9
ANS:


[image: image49.png]Ax)=x - 14x+ 49— 15- 49



  [image: image50.png]



REF:
062130ai

10
ANS:


The vertex represents a maximum since [image: image51.png]a <0



.  [image: image52.png]flx) ===+ 8x+9

=-(x*-8x-9)
=—(* - 8x+16)+ 9+ 16

—(x-4)*+25




REF:
011536ai


